TR 7"'7'0I10 X,1v naw .7"'02

This one and that one are the same measure — X7 X% 777 9798 97N

OVERVIEW

The miwn taught that the amount to be 2>1 for carrying ¥ is 190 °5 X912, The X3
cited a ¥Xn™12 in which the Myw 1s N335 (a dried fig). The &773 answered that a
7%V 5 X971 and NIAMAD is the same amount. MoOIN clarifies a point.

Mmoo responds to an anticipated difficulty:
= 11959955 VP XYY NHV 29 NIN PNINNL VPIT XM

And the reason our ;712» mentioned ;79v 52 X925 and did not mention N3=3D -
= 17 WY DI9N 12 1IN DYV NYIIN DIVYNT 1)’)”9\’)2(5

To teach us that the 2°»217 gave this 799°2 on account of feeding the 775w -
$NT YOIV 009N 13 99N NNIY 213999 NN XY HININD VP INY

For if the 71w would have mentioned n9x3193> we would not have known why
the 22351 gave this specific My w.

SUMMARY
It is important to know the reason why the 0°»5n instituted the various 2™Myw.

THINKING IT OVER
If it is so important to know the reason of the 2ww,* why is it that the Xn»12 stated
N33, and not 779L 5 XHno?*

! The nwn shortly mentions N30 o112 @°9%a %9y oW *9w; so the mwn» could have included 1y with them and
should rather have mentioned nm73 (which is a known ) instead of 770 2 &7 (which is not used often).

2 We may have assumed that the reason is because a N7317 is the MW for all 27X *2o8n (and 1Y is QTR HoRNY MX7).
See ‘Thinking it over’. See following "19n "7 mpon, TIE footnote # 12.

3 See footnote # 2.

4 See X",
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